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XK B B #H O HE OE G

I & #E BEfYEIE B %
A (/RIR) 323 m3 |AHBYEIH=E 370 m3/AH 0.87 H
PRYE (/MRAR) 1120 m3 |HHYMEIHE 320 m3/H 350 H
EEEBIE m2 |AHYEIHE 500 m2/H 0.00 H
BRUMER) 1305 m3 |HHYMEIHE 400 m3/H 326 H
Bt m3 |AHYEIHE 860 m3/H 0.00 H
T v AMERRET 815 m |AH#YEIH=E 260 m/H 313 H
EREaL9)— b (ADITE 60 m3 |[HHYMEIHE 690 m3/H 0.09 H
B3> 9)—r I (ANDITE 106 m3 |BHYEIH=E 690 m3/H 0.15 H
EILZILHE:3) 054 m3 |(HRYEIH=E 091 m3/H 059 H
ERReT 1200 m3 |HEYEI%HE 1550 m2/H 077 H
#ET 05 t HIEYBI%HE 35 t/H 0.14 H
FEBAH 1250 H
K&EBH 13




